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E Note: l. Answer aryi>\ldpur questionsfrom Q.No. I to Q.No. 7.

fi z. aaestlilTNe a is computsory.

E I a. What is Licensing? -{l,r.r): (02 Marks)

, f; b. Differentiate betwqsrtr"sp6t and Forward market. (06 Marks)

$: c. Prepare a BOP ,ffi,"nt for France from the following data :

-f I i) France;g1rpio'ns goods worth FFrs 5000.

f I ii) Franeq. irn'port goods worth FFrs 4000.

.H+ iii) Exfrsnditure of foreign tourist in France FFrs 2500.

E $ iv) ,'Fiunce makes interest and dividend payment to foreigner FFrs 2000.

E E ..r,), r:A France working in USA sent a cheque to his wife in Paris worth FFrs 500. *'(,*
€ .E " 

,,1\*0i) ABangladesh emigrant working in France remits money to his account in Dhaka,f$\-
El ..II;i Iooo. ,.,.{S)"
E E ,, 

1,'; ,i'' vii; France telecom invest in India FFrs 4500' 6nj:|\
g 

-* 

f;it " IJj' fH.'1ff;:l?,:;?t.,'rTs.1l',,1rreasury bond FFrs 300 ;'.,.!\;o
Eg. ''.' x) A Swiss resident buy a French treasury bond FFrs 5000. 

".. "',,.:l,F*9. i,{\S.H/ xi) A short term loan advanced by BMP to a British residence FFrs 4QI}0,"f]:'
lli 'ts, 5 xii) France borrows FFrs 3800 for short term from foreign. ,,;t|$) (0s Marks)" ','. F E '"'-'6"' rrr) ,rri. '

;E 2 a. What is SWIFT? _.,;:r'':l' ": (02 Marks)

E s b. Why did the Bretton Woods agreement collapse? .,i(.."_r\', (06 Marks)
9=
a g_ c. Write a note on the following : i;,-l\\:"tj'
E F D Global Bond ii) American depository receipt ri$:\Ytlo coupon bonds. (08 Marks)
o .i ,1"./
; 5 /.1.) \/'
E E 3 a. Explain Cross listing of shares. ,-,ij,'i j_r (02 Marks)

A fi b. Explain the arbitrage opportunities for atrader"w*l\iVish to borrow Rs 1,00,000.

i E i) Spot rate I $ : Rs 65 ; .,,i,"'
iE 6 months forward: Rs 67.50. i,.15.,.";,''
g E iD Annualised interest rate for R€ E" tt) Annuallseo lnteres[ rale Ior Kupeq+K"lp] "

o=
i. S iii) Annualised interest rate for Dollar\*ol' (06 Marks)

E I c. The following informatton ts avd+b.Ip for the U

6 months forward: Rs 67.50. o$f ,i
Annualised interest rate for Rupeqr{?H'''
Annualised interest rate for Dollar?Vo.'
followine information is avai{tb#6r the t

:>,
rJ<
-i 6i
o

z

o.

ion is avaiftibtd"'for the US and E

{

o P.,,fti,t'lttlars US Europe
No r{'fu'al I nterest Rate

-

4% 6%
E*o#ted Inflation 2% 5%
$iibt Rate $1.13
One vear Forward rate $1.l0

r: :/
i t.-".

in one year?
in one year?

Explaiq,.NhlttilateralNetting. (02 Marks)

_Wrirt"i*Translation Exposure? Explain the methods for evaluating translation exposure.

.:il.i.;"liOne Ve"r forwara .
Does Interast $dt)e parity hold?
Accordipg,[9'l'PP, what is the expected spot rate ofthe e
AccorilinA to IFE, what is the expected Spot rate of the e

.;.\.d,,"..;.,-
(08 Marks)

4a.
b.

I of2
(06 Marks)
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The rate of Inflation in India 8% PA and in the USA.|&$)4%.The cument SpotThe rate of Inflation in India 8% PA and in the USA.lil.$4Yo.The cument Spot rate for USD

in India is Rs 46. What will be the expected ratdffiei I year and after 4 years applying the

c. French importer who is to pay$.,$,$$'O ana fear an appreciation of $ , he should have a

Quantity of $. The spot priceflF(,"$.6/$.
US Interest rate is O% p.q1 ;i\ FFr Interest rate is 8Yo p.a. 1 month contract.

purchase power parity theory? (08 Marks)

a. What is Geographical arbitrage in Fore.g.$ahafiement? (02 Marks)

b. From the following rates, find out Rp; lationship.
Rs/tJS $:48.1000/3650 ; rrDN$trJlS $ = 1.5020/5100. (06 Marks)

What should importer do?.r.. 
'' (08 Marks)

G a. what is co,,nt.y$ptliflty.irr (02 Marks)

b. Define a MNC. ffiet are its Goals? (06 Marks)

c. Explain the,*ffint types of International bonds. (08 Marks)

7 a. WfrrtjsRii{irice of Payment? (02 Marks)

b. Yod$\.vd'balled your foreign exchange trader and asked for Quotations on the Belgian francr,q.

Fp..qt,,"bh; - ,onih , three - month,hd six - month. The trader has responded with thet.il.:

6$jlowing : $ 0.0247et8t 3ls 817 13i l0 (06 ryqqr$fi)l)-
'lj,:l[f"wh; ao.r tt i. mean in terms of dollars per Belgian franc? ,*i:lt'

,, {i^.,:i}ii) If you wished to buy spot Belgian franc, how much would you pay in dollars?.. -u':'i, 
-

.,.f \\-i1 iii) If you wanted to purchase spot US dollars, how much would you have to pay,in Belgian

{lt"+" francs? 1'

^,1', ".' c. Explain different internal hedging techniques. i , . (08 Marks)
.:'\. );) L 

",.t't.\ 8 CASESTUDY: .i.'li
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Indus Ltd., is the wholly owned Indian subsidiary of US based.6Q.fip'dny, Goft Ltd. Non -
Consolidated balance sheet of both Gofts Ltd and Indus LG,15(0r\Iv foreign operations), in
thousands are as follows : {t'\}, " (16 Marks)

Plant and Equipme

lows : i )l

Assbts Gofts Ltd ($ hiifus Ltd (Rs)

Cash 220Q*r 8000
Account Receivables 24S$.!', 4600

lnventorv .-.u400 7000

Net olant and eouioment .\ 4S00 9000
lnvestment { ._,.).",2000

Total '{ 13600 28600
nt and Common stgq(wbre acquired when exchange rate

L iab il it ie s an&N$'t}6rth Gofts Ltd ($) Indus Ltd (Rs)

Accounts uai{fiIb I 000 12000

Common bth\k' 4000 6000

Retaindd.ebrninss 8600 10600

{0.'i*1.: Total 13600 28600

is Rs 43.20l$. Gofts Ltd., translates by Current Ra

was Rs 38.20/S.

te Method.
exposure for Gofts Ltd., by the Current Rate Method and Monetary

Method.
lidated balance sheet for Gofts Ltd and Indus Ltd.
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